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Give two examples of greenhouse gases along with reason for your choice.

Government of India has fixed age of marriage as 18 years for girls and 21 years for boys.
Support this action of Government with two benefits on environment.

Government should put limit on the production of mobile phones. Justify this statement with two
reasons.

Farmers should not use pesticides. Give two reasons. Guide them about alternative way of
increasing the fertility of soil.

Thereis aparty in your family.DJ does not agree to play very loud music. Will you support this?
Give reason for your choice.
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